
l6

(ii) s{+ fi-d fr ${ t s€-S rrrft * ersw y(

51,000 r

(iii) sl,ooo {. :6T v.rffi, s<* fi-cr * *rt aa

E{+ + GEt}BqER sv* frs m trq tr <nr ff, Es

cfrE{c { fi mq" qf q1q1 frfrqr (ro)

(o,) str oa (r v) * cro atqrfrIr qd 6 qrc * 6s
*6 6 mur+ fr qrqr dhsr (ro)

(u) M sf zozz-zs i fr q* rm ffi qffi s]
?q ir ffqor sS zozs-zl t rooz ql fl qrqr Ei+
+ frs st ryr qrqr qGcr (s)

zIT

(6) ffiRrfrotffim+ *d6t{+S: (s)

(i) ftdFft a{ sd frs ?rs irgqurr vr <c

(ii) qrr 40s(s) * n-rc ro,ooo wi t qE6 tl
4I

(q) qRT sz(r) 'mn< 6-&fr,' + ve( ffi qk sm

frt{-fr sif {t fr flfi vrBs, ilfr ffi'fr gt+

* s-&fr tnr qrqT tn-( q*r ffi {rq d sq
d sr (rc)
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ErcI*frqfrfu

E(I vf{-qa + ffi A scr fts rls frtJifu srq qt irr{r

Wffir6'frfrq t

t5

5 gm d rara t fr qE ffqliq s{ zozs-zn * frg

sqft q"< qq.{ 6 qttr{r E{r ilem qr *t qrr ffi+ d fr.

$q *dl t :srfr srq r'. ro,0oo iil{ 3ffi ffi qq zozz-zs

+ &rt fftsm rqr+ + so,ooo wi vqr fte it s# qRr

ns ffi * t'ao ffi*. q{nnc *ffir w fi-om rff 3qr

*r (ts )

(c.) Sff frfrrrr ffi6 r-lo-200s ai} EtA r{ ilsfr
flsr&q ffi * ERffin q'rcr qrrfr *r q-S dfts
f*'ca scff 6t ?TErt d dt q''c q-t sc-fr *r

(ro )

(te) { trr (or af) * s{ zozz-zs * st{q++, scr

v< qrn * w { so,ooo t fr&r grn €frc fr Hr
ir6 EcI Enm S frq 6-&ff t vffir i? qR tif, i sq
dftcr (s)

qT

(q') {* +fr * lrrw.fr- + Eerdwr qt A{6rk*' {frrrd
dFr (\-{ftfi-fr) ftor lr ot tq<rt q"c si+ + fts
ts+ cm 3qder ffi' ar gare tr (s)

(r<) *rm rsrf*, *} ffiRdd swn ft& B:

(i) zfi + qd t w r,oo,ooo t d scER

2 3003

4.

1

4

z. qrft vri * wr< tfrs r

s. qSEri * orotqm* r

sin qFm"{ qEffq{, le6r + vrqur+ q( oflulfu A+ qtBq t

5.. g{rrwr-q:{ 6rirR w}ff qr frfr ffi vo qqT+AGq, iRi{
nrt Yat qr qrr:rc vo ff rtcl qBs t

(a) What do you mean by Tax Planning, Tax

Avoidance and Tax Evasion? Differentiate
between Tax Avoidance and Tax Evasion with
the hetp of suitable examples. (10)

(b) Who is a Senior Citizen and Super Senior Citizen
under Income Tax Act 1961? What is their
maximum exemption limit in

(i) Old Tax Regime

(ii) Alternative Tax Regime

OR

(5)

P.T.O
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qsd d qi[-d Eil arq fr rrurqr cE cri+ ET znr dfte:
rru qRr 44\Ag * <rc rgqrn-d inq 6,r ft6-fl grdr
ir
qtr aru 44ggg * rfi trdqrkd srq rfir ft6-m T&

Tr*r *r

cs-n d sci-n ffi i t ffi \q' d T{i d q-an

?, uEt 3trfr fi ic-art 6"{ *r (rs)

(a) Discuss whether the following are tax planning or

tax evasion tools:

(i) The seller of capital asset shows lesser
value than the actual price for which asset
is sold.

(ii) The taxpayer chooses the higher of the
two costs: actual cost of purchase. or fair
market value as on I April 2001 in respect
of assets purchased before I April 2001.

(iii) The taxpayer avails any of the two options
in case of listed securities i.e., l0% rate
of tax without indexation and 20Yo rate of
tax with indexation.

(iv) X gets bill of highcr amount made than the
actual cost of capital asset to reduce the
laxable capilal gain.

(v) Y sells his depreciable assets after using
for more than l5 years and treats the gain
as long-term capital gain. (5)

(b) The incidence of tax is based on the residential
status of an individual. Explain. (10)

Prepare suitablc salary plan for aspirant employee of
ABC Ltd. having package of Rs. 20 Lakhs per annum
so that tax liability is minimum under

(a) Old Tax Regime

(i)

3003

2

(ii )

qT

,ft Aro * qrff 3 +(ffir'i ftr+sr vq+rr {6 src+
qrcrec BM * ftq 6'cdr *r

ft-fior {6rlq
(d.)

qond
(F.)

q6RS
( {.)

+rqqrfuqXe .10.0(X) 60.o(x) tto.(x)o

sfudfu-rrqlTIqrqtrqr{ff) 60.ooo 9ll.(xx) 1.30.{)01)

qr+o fuirqr 70.000 I.O0.OOo 1.20.0(X)

ffi E{ t Ehr fu-{FdER fi{r Urrd-r fu"qr
TqI qIRqII 61 6-T

l.l)0t) 2.000

6.00o 8.Ot)o
ffi Ed b dFrr qrFcro Em Trrarq fu'qr rrqr
irRqrfufir oa

,l_o(xl

q{I+ftI q{ qq 2-0(x) 4.0(X) 6.000

frqrfrftqq l.o(x) 1.5(x) 2.(XX)

ce E{ffi wvffi ft ffiq xq ftqt rr.n *n

C{nfr s-{ zo r o- r I I soa .rq q) 1997-9ti 2005-o(r 2007-ott

zozz-z: t'dtsn U.rdH fuq rrq 55u w ere 45.000 1.20.0t)0 l.tD-o(x)

P.T.O.
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(b) Alternative Tax Regime (ls)

OR

PQR Ltd. has offered a job to Mr. X in Delhi at a

basic salary of Rs. 30,000 per month, dearness

allowance (which does not form a part of retirement

benefits) of Rs.30,000 per month and fixed
commission of Rs.4,000 per month. PQR Ltd. also

gave an option to him to choose any of the following
two packages :

Package I :

(a) House rent allowance: Rs. 8,000 p.m. (Rent to be

paid by Mr. X to any third party for a rented

accommodation: Rs. 10,000 p.m.).

(b) Education dllowance: Rs. 800 p.m. (for one child).

(c) Telephone allowance: Rs. 1,900 p.m.

(d) Medical allowance: Rs. 3,000 p.m.

(e) Conveyance.allowance: Rs. 1,500 p.m. (for private

use).

Package II :

(a) Company owned accommodation (Fair market

value being Rs. 96,000 p.a.).

(b) Education facility for one child of the employee in

an educational institution maintained & owned by

the employer: Rs. 800 p.m. (However, cost of such

1"1

IFF'FT vr6 nB6-d i+Ti-d i * (s flM qc+fu EI+

{ qql -[ctT B ut( {fr rm] qr !rr<m }s' s( 6{dr tr
fuftq s{ 2023-24 + fts rk uk yrtmertr fti frir
zrqr l:

3.

J2,IO,OOO -t2,4O,OOO

(t,) r-a-zozz d qn qr aft 1u 6,00,000 rqt ut,

i['R T{ l5% fr qr t Tztirqr

(rE) s6 ifltm q( rT (6dt E, IsRr.6T;rrR FFFI TFt oo,ooo

wt ir sctffi EI+ { A lft e-+ nrm ftqr rrqr t,
qEEtrER6ffir{*l

T fa-d-{srfufiq
t 0,l{00010,000 dfl{s]sdd
6.114.o0()3t,40,oq) +rqtcq or fr-qrqrqr+efi-ofifrqi
23.OOO8.OOO tor-vfterurEw€qr€t(nri{
5 t.o(x)72.O(X) ?dolrqqqrqrSq,16 {iqR Q fu-{rql

10.0000 q'rqtsq or frfrlr qq 55.OOOonq or t{wr <qq{rwl
qtd{ dErtqq lt.(xx)

o{FJq ,rrl{6r

qRrrdEd .rJ,0m

1o,000
t1-6 rfirF uq
cjrrF8lntrdt 6{ 5 s,o00
3lrt*crd.5,ooo)

t3.lo,oo0s}q{rRrfreF

P.T.O.
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(u) frfri-<r qir: {. sc{-6 s,ooo yfrqrEr

(g) srF{ rrir: r. l,soo nfrrtr (fi-fr sc&.r * frs)r

Bq n:

(o.) cd * eft< qrff Frq (sR-d ErqR Tq r qo,ooo

rR af)r

(s) frfi-<t arr ffi{ ss ErfrF sr+ rmrq ftqrt i
6ffi + c6'T.t + frs ftlrr gFur r aoo lftnr
(affi, Edr*t vowrr{tqmt tfr ftrn frurrrc
r.cso yfr{s t)r

(u) fr rm * anrs vt ft gm tffd;{ !Eur: r. l,eoo

vftqrr

(v) vod+rt + ffi kFq + * vft * sqsR 6 Rs
qEerd frfr-€r rR{ffi: r. so,ooo cRcrE

(v) ffi uvftr + ftc +rt cn gRur: d t8,ooo cR
s{

srffi ft€r vn d sqi-m aqt- ++fr + d*dR, q6ri

6ffi *( qrfr d M $ y-em q-'(fr *r c-A6 q'ffi or
ta-r ?s,ooo cfr qt6 *r

ws fr vfi I trm nsffi * em ffi'q-<rqrr *wqr
6r ft6-c{ 3ar *, fr r€ aer*-+ q{ eozg - za + frs irrfr
qt tciqt o] ot 6li + frs q,iq nr i*q gr<r qGe?

education in a similar institution in the locality is
Rs. 950 p.m.).

(c) Free telephone facility at Mr. X's residence:

Rs. I ,900 p.m.

(d) Expected medical reimbursement for the treatment

of Mr. X in a private clinic of a doctor: Rs. 36,000

p.a.

(e) Motor car facility for private use: Rs.18,000 p.a.

The company also offers Mr. X the services of
watchman, sweeper and gardener in both the

above packages. The salary of each employee is

(3,000 p.m.

Which package should Mr. X choose to reduce his

tax liability for the assessment year 2023-24 when he

has opted for alternate taxation scheme under section

ll5BAC? (15)

Safal is a Medical Professional who deposits all
receipts in his bank account and pays all expenSes by

cheque. Receipt and Payment Account for the AY
2023 -24 is given below :

3003 5
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Particulars Rs. Plrrticulats Rs.

Balalce b/d I0.000 Salanes 10.1.1.000

Professional Receipts 3t,40,000 Rent ofoffice 6,84.rX)0

Diridend from U.T.l u.000 Audit Fees 23,000

Renl from Residential
House Propertv

72.000 Telephone expenses 51.000

Share oflncome
(H,U,F,)

10.0000 Misc. Oflice Exp€nses 55,000

Motor Car E\penses tt.(x)0

Ad\anced Income l_aL\ ,10.00o

Personai E\penses .15.fix)

House Propert-v

Expenses (Municipal
taxes of Rs. 5,(n0 and
Insuranc€ oiRs 5,0U))

t0.000

Balance c/f ll.l0.{)()()

32,.10,000 J2..t0,000

3 003

Other Information :

(a) Written down value of the car as on l-4-2022
was Rs. 6,00,000, depreciation on car @ 15%o.

(b) He stays in his house, the municipal value of which
is Rs.60,000. All the expenses which has been

included in the above account are in respect of
this house.

lt
(v) cr trrnr ffi qk fr qrsffic ftrft c( iltnRf, *r

arqr dfrqr (ro)

20 arq rfr TC lct t +tE sr* vfrft frR& t rqo-
q,,{qrR.il * frq scgffi Ail{ fu{r +qR dRc ilfr rfi{

;G,A, qrdc n

(t,,) S<r* rr'{ aFrFrT

fin) toRo 6r Erqpr (r)
qI

qqflR frfrts t fret cR d frd i so,ooo \ci cR
qr6 + W +tr{, so,ooo nq} cR qra qff .rflr (d
ffigF€ Rrrr 6r ftRr {e *) *t 4,ooo nq+ vR {6 *
htud q.fr{r{ q( ffi * t{ro'$ fr tr fi-qsn ftfr}s
* s* ffikc a n+d q- t ffi qq. 6] g<i Er fr6e
rt ftqr:

tdm r,

(o') mrrfrner rnrr: r. 8,000 ffitr (frIrs * ilsrs *
frs * cffi d{I ft'fr ffi cn t} gr-crt frcr qA
qr fr{Ell: d'. lo,ooo vfr am)t

(q) finu rrin: E 8oo cftcrt (\c, <d * ftv)r

6 3003

(rI) zdi*{ r{ff: e. l,eoo nfrqrar

P.T.O.
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(i) grft c( <nm

(ii) ffi6 rrr rrrer (s)

qT

(t.) q-qt des ft wr ffikt a< ffiq-< qr qr it
g 3qq'<ur *:

(i) ffrrn cRwfr 6r ffin ss sr6Ro, 1u t
t,,t 1u frertr * ftrff+'frs cRqqfr }fr urft
*r

(ii) s<erdr a drrr,it- + + d irDr6 n * grcr i'
r wfre zoor t qre rstfr rr€ ffi + qftr i-
I ggtl 2ool t6I tflrE i['I tllkrcr.E' Fr.TtT zll Slilil
tIltIR {Fn

(iii) o''c<rm qft<-d cfr'Frrit + rrr$ + A F-6Ft- {
t ffi \s tnr F q v6rdr *, sqtd, *drl-{ +
k<r qt d ro% Et *tffi{t{Aqlq 6"( d
20% qfl

(iv) w trt tfrIrd drq 6 6q o.'<* * fts s-{s

6) TftIra nMfr fr qr<fr+ dr{RT t irft-6 rrRr

or f<o fta-m *r

(v) v, rs sfr t irk6 qqq (6'3q+{ ..[ * ...
sc'fr Tirdm +rc irqfr i-ftr * slt onr s]

fiffio iftrrc am rr<r *r (s)

Compute the Gross Total lncome of Safal assuming

that:

(i) He opts for Presumptive Income under section

44ADA.

(ii) He does not opts for Presumptive Income under

section 44ADA.

Advise Safal to choose between the above options

where his tax liability is lower. (15)

OR

Mr. Kushal has 3 house properties which he uses for
his own residential purposes.

3003 7

Particulars
House A

(Rs.)
House B

(Rl.)
House C

(Rs. )

Municipal value ,{0,(D0 ( .0m 80,0(x)

Fair Rental Value (PRV) 60_00t) 91t.000 l_30.0(x)

Standard Renl 70.000 1.00,0(x) 1.20.000

Municipal Ta-xes paid by Tenant during lhe
previous year

1,000 2.000 3.000

Municipal Tares paid by ormer during the
previous year

,1.000 6,000 tt.0(x)

ExDenses on Repairs 2,000 4.0(x) 6.0(o

lnsuralce Prenrrum l.ixlo 1,500 2,000

Year in shich the loan was taken for
puchase of house
(All lhe houses were puchased in 2010- I I )

1997-9fi 2()()5-06 2007-08

lnteresl on Loan paid d\,ing 20?2'23 45.000 1,20,m0 1.00.000

P.T.O.
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Advise Mi. Kushal, how he can plan his tax savings

for the AY 2023-24 on the assumption his income

from other sources is Rs. 10,000 and he has deposited

Rs. 50,000 in the PPF A/c during the previous year

2022-23, He has not opted for optional taxation scheme

under section 115 BAC. (15)

(a) Ms. Jigisha want to transfer his residential house
property purchased on l-10-2005. Discuss how
can she reduce his tax liability. (10)

(b) Mr. Raman (61 years old) received Rs. 50,000 as

interest on bank depositsduring the year 2022-23.
Suggest, can he take deduction for this interest. If
yes, explain. (5)

OR

(a) Ms. Shally has long term capiral gain (LTCG) on
transfer of Jewellery. Suggest the options avaitable
to her to reduce tax liability. (5)

(b) Mr. Sarthak has received the following gifts :

(i) From his mother's brother valued at Rs.
r,00,000.

(ii) From his friend on the occasion of his
marriage of Rs. 51,000.

(iii) From his father's friend, a laptop worth
Rs. 5 I,000.

How much of these gifts are taxable for him. Also,
explain tax planning in this scenario. (10)

(a) Explain provisions of clubbing of income of minor
child u/s 64( I A). (10)

(b) lnterest, Royalty and Fee for Technical Services.
all of which are payable outside lndia or payable
to a non-resident by Mr. X in the previous year
2022-23. What should be done by him to claim
1000/o exemption in the A.Y.2023-24. (5)

OR

(a) What are areas of tax planning in the following :

(i) Expenditure on research carried on by
assesse himself

(ii) Expenditure exceeding Rs 10,000 u/s
40A(3) (5)

(b) What are the conditions that must be satisfied by
an individual under section 37(l) [General
Deduction], so that assessee can claim deduction
of these. Explain any five. (10)

(o,) qt ffiq<, qr qRuR *{ 6t +t + ffs wr cr'fr+

* Z scgfr Terrroir cl q6rdr t 6"T cfraR sik u,"r

+t + fiq rr< qq frfrsr (ro)

(e) rm-+.< ffifrq{ 1e61 * effi sfu qrnfrr *( sR

sfu cFrfrc' 6t{ *? T{ff iflfufi'f,q se *cI wr *?

5
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